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The same variant of the cipher already introduced in Part 3 and 4

of this challenge has been used here, too. The only di�erence is

that spaces are no longer characters of the alphabets (they were

removed previously to the encryption process).
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The two alphabets used for this challenge are:

Alphabet 1: ABCDEFGHIJKLMNOPQRSTUVWXYZ

Alphabet 2: abcdefghijklmnopqrstuvwxyz

This is the ciphertext:

OeVKxilYXxstyVXixDCfyureCmlCByhEJqYCykEknXFrcCWxNigKyp

EgDxVqipDWaQzyVeaEKqKgyipyJcCDfalyXuqnEhZVnKCynzcCZW

RzgQcycrCPeDaiXxkxccliTrgFOylQxhsyzvgyiECEWXDxeuEKqkVY

cECvznTcyXxDknXKfEFccxSYXrezKCvlCzydxcigzeNrXWECnWzgk

pyxDKaJPXWEncRkVDyETYVzCNFgpQEygKDRWVQVntofVQWzh

WQcxWWVQtyyVxiWzCQlFqxrWpQyDavzyKVWadyXinlZlWXQgy

DhoKVesyCzcgpizrycprWDyXPcQHypKQcECxDFUgeKzfa

You are to �nd the longest word in this plaintext that appears twice.

As a solution please provide this word written in capital letters.
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